= SetDirectory[" /ww/user /f dahl /papers/Conjugation/"1];
<< kappaLi b. m
<< Petrov. m

KappaLib v1.1

Petrov routine | oaded

lanl 1 0 0 0 0
0 lanl O 0 0 0

e V= 0 0 lanm2 1 0 0 )
0 0 0 lam2 O 0 '
0 0 0 0 lan8 O
0 0 0 0 0 | anv
000100
000010

- B = 000O0O0T1
100000/
010000
001000
0 epsl O 0 0 0
epsl O 0 0 0 0

W= 8 8 eposz eposz 8 8 /. {eps3 > -1, eps4 » 1};

0 0 0 0O eps3 O
0 0 0 0 0 eps4

m Solve S starting from expression in SWW

7= (% First find matrix that gives matrix in the SWV paper =)

laml 0 0 o 0 0
0 lang 0 0 eps2 0
0 0 L(langslam) O 0 S
Pet
€ rov[ epsl O 0 lanl O 0
0 0 |an13;|an'4 0 0 % (-l anB + 1 amt)
Out[7]//MatrixForm=
0 0 0 0 0 lam
0 eps? 0 0 lan2 O
o 0 Lare.1 amt L(-lanB+lam) 0 0
0 0 % (-1 ang + | amd) M 0 0
0 lane 0 0 0 0
laml 0 0 0 0 epsl
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ng= S = Tabl e[ToExpression["s" <>ToString[i]<>ToString[j1], {i, 1, 6}, {j, 1, 6}1;
jl=Flatten[Transpose[S].B.S-W;

xx1 0 0 0 0 0
0 xx2 O 0 eps2 O

. 0 xx3 O 0 xx4 .
j2=Flatten| epsi 0 0 xx1 0 0O -$-8.V];
0 0 0 0 xx2 0
0 0 xx4 O 0 xx3

exp = Union[Join[j2, j11] /. {epsl » 1, eps2 » 1};
1= Sinplify[exp] // MatrixForm

Out[11]//MatrixForm=
2 (s11s41 +s21s51 +s31s61)
-1+s12s41 +s11s42 +s22s51 +s21s52 +s32s61 +s31s62
2 (812542 +s22s52 +s32562)
s13s41 +s11s43 +s23s51 +s21s53 +s33s61 +s31s63
s13s42 +s12 543 + 23552 + 522553 + 533562 + 532563
2 (s13s43 +s23 553 +s33s63)

S14s41 +s11s44 + s24 s51 + s21 s54 + s34 s61 +s31 s64
S14s42 +s12s44 + s24s52 +s22 s54 + s34 s62 + s32 564
-1+514s43 +s13s44 +s24 s53 + s23 s54 + s34 563 +s33 s64
2 (sl4s44 +s24 s54 + s34 s64)
s15s41 +s11s45 + s25s51 +s21 s55 +s35s61 + s31 s65
s15s542 +s12s45 + s25s52 + s22 s55 + $35562 + s32 565
$15s43 + 513 545 + s25 553 + s23 s55 + s35 563 + $33 565
s15s44 + s14 s45 + s25 s54 + s24 s55 + s35 s64 + s34 s65
1+2s15s45 +2s25s55+2s35s65
s16s41 +s11 s46 +s26 s51 +s21 s56 + s36 s61 + s31 s66
$16s42 + 512546 + $26 s52 + 22 s56 + $36 s62 + S32 S66
s16s43 +s13 546 + 526 s53 + s23 556 + 36 s63 + s33 S66
s16 s44 +s14 s46 + s26 s54 + s24 s56 + s36 s64 + s34 s66
s16 s45 + 515546 + s26 s55 + s25 556 + s36 s65 + s35 s66
-1+2s16s46 + 2526 s56 + 2536 s66
s11l (-l antl + xx1)

-sll -lanlsl12 +s12xx1
s13 (-l anR + xx1)

-sl13 -lanR2s14 +sl14 xx1
s15 (-l anB + xx1)
s16 (-l amd + xx1)
s11l +s4l (-l antl + xx1)
s12 -s41 -1 aml s42 + s42 xx1
s13 +s43 (-l anR + xx1)
sl1l4 - s43 -1 anR s44 + s44 xx1

s15 +s45 (-l anB + xx1)
1A L AR /_l aml L vv1)
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-laml s21 + s51 + s21 xx2
-s21 -l aml s22 + s52 + 522 xx2
-lan2 s23 + s53 + s23 xx2
-s23 -l an? s24 + s54 + s24 xx2
-l anB s25 + s55 + s25 xx2
-l aml s26 + s56 + $26 xx2
s51 (-l aml + xx2)

-s51 -l aml s52 + s52 xx2
s53 (-l an2 + xx2)

-s53 -l anR s54 + s54 xx2
s55 (-l anB + xx2)
s56 (-l amt + xx2)

-l aml s61 + s61 xx3 + s31 xx4
-s61 -l anfl s62 + s62 xx3 +s32 xx4
-l an? s63 + s63 xx3 + s33 xx4
-s63 -l anR s64 + s64 xx3 + s34 xx4
-l anB s65 + s65 xx3 + s35 xx4
-l aml s66 + s66 xx3 + s36 xx4
-l anml s31 + s31 xx3 + s61 xx4
-s31 -l antl s32 + s32 xx3 + s62 xx4
-l am? s33 + s33 xx3 + s63 xx4
-s33 -l anR s34 + s34 xx3 + s64 xx4
-l amB s35 + s35 xx3 + s65 xx4
-l aml s36 + s36 xx3 + s66 xx4

ClassXV_Solve.nb

inp12):= sub = {s1l1 -0, s13 -0, s15-0, s16 -0, s51 -0, s53 50, s55-0, s56 » 0, s12 » s41, s14 » s43,

sb52 »s21, s54 »s23, s61 >0, s63 -0, s31 -0, s33 -0,

(» revert here x)s21 -1,

s41 -0, xx2 s lanl, s23 50, s43 -1, xx1 s lanR, s24 -0, s25 -0, s26 - 0, s45 > 0,

s46 - 0, s42 50, (* rev x) s22 -0,

(» conmpute G oebner basis bel ow )

xx3 » (lamB+lamd) /2, s32 50, s34 50, s62 -0, s64 -0, s44 -0, s66 »>1/Sqrt [2],

s36 - 1/Sgrt [2], s35 » -s65, s65 > 1/Sqrt [2], xx4 » (Il amd -1 anB) / 2};
Sinplify[Sort [Union[exp //. sub], enfSi ze[#1] < enSi ze[#2] &]] // Matri xForm

S//. sub // MatrixForm
Out[13]//MatrixForm=
0
0
0
0

Out[14]//MatrixForm=
00

o O B o O o
‘Hoomlpoo
ﬁ‘HOO%"HOO

o OO O -
O PO O O
O OO O O

V2

n[1s):= (* see above =)

GroebnerBasi s[Sinplify[Sort [Union[exp //. sub], enBi ze[#l] < enfSi ze[#2] &]], Vari abl es[S]]

out[15]= {}

|3
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m Putineps_i

0 0 0 a1l 0 0
a2 0 0 0 0
0 0 0o -2 2
In[16]:= SX = V2 A2 /

0 0 a3 o0 0 0
0 a4 0 O 0 0
0 0 o o X 328

NV

{a5-1, a6->1, a7t > 1, a8-51, al>1, a2 > 1, a3 » eps2, a4 » epsl};
Uni on[Fl atten[Transpose[Sx]. B. Sx - W ]

ou17)= {0}

in[18]:= Sx // MatrixForm

Out[18]//MatrixForm=

0 0 0 1 0 0
1 0 0 0 0 0
0 0 o o -+

NCEERNC
0O 0 eps2 0 0 O
0 epsl O O 0 0
0 0 o o -~

NN

no):= (% export . pdf =)
Not ebookPr i nt [Sel ect edNot ebook [],
" /www/user /f dahl /paper s/Conj ugati on/not ebooks/Cl assXV_Sol ve. pdf " ]



